N (1710

ZERFAN (1710

1 8 (39 _ (S & | oh<LIFKE
5 4 7 | vy 5-RERLC (LD
Q T 0 12 2320 (i)
S 150" 7 (EEE= | KFTH02133% 2
2320 _ s
52 1103 10 1103 52 e
5 8 Q }@D%ﬁ 3 @@\ COLE
- !’/ X s _
£ — _
o ] EERE
—1
— — g
® {HEEE (1/8) ngEE (18 0
(== o| ©
ac : = =] @
—| — 5% % 11 % ¥ B (mm W= 1% g
s ] 1| REE BHAY) $60.5xt3.2 STK400 HERKES
N N (BB T7W3-I5299LA%HHE)
2 | mRER (BED 50% 120 AB0B3S BEBLELHE
3| mE&R GegD 50% 120 AB063S BERLELHE
4| mRER (2D 50% 120 AB0B3S BEBEARE
5 AR 25% 60 AB063S BERLELHE
[8]H$ ) 6 |  wrcLazn £3.0 70 3 BEREEAH -
:B = 7 - F - IJAbY- -
] - 1 a N 8 W - t2 A1100P 2%
T ) X—r/ 3 9 Rxvy T % 16/ F40v -
o 10 vy y-§t LGy - - J- 8l
@D/ S 1 At TL - b t2 A7YL3R -
N ae 12 sEmATL-+ t 370 A .
|| o 13 R 060X 30x12.3 STKR400 HENERE (FREH®- %)
2 14|  EB#Tv-+ t2 A7V A -
15 BExey 7 060X 308 PE -
16 LYY t6 SPHC HERERE (FREH®- %)
17 €y t6 SPHC BEWREE (FRBRHD- &)
BIR 1720 18 CVIBE 512 6D RREDS-
£EE OB 19 CVIRBE £3.2 SPHC BEWERE (FHED®- %)
0550 ) BBOAZSESEETY, 20 gy 4x 20 ATV A -
21 g2 12 &% -
22 BLESE t2.3. 13.2 SGH BEWREE (FHBHD- &)
23 BiR 11.5 AFYUA -
24 SEUBR LS - 1.5 ATYV A -
25 BUE 12 AFYUA -
26 B4y t1.5 A6063S. EPDM -
27 WA | M10x 100 4.618% BRBR® - &
28 ] M10x 75 4.618% BRHEBNY - &
29 ¥ IhRY M5x 10 ATYV A -
30 0 M4x 10 AFYUA -
31 FIADNRY M8x 45 AFY VA -
32 " M5x 10 ATV VA -
33 ] M4x 10 AFYUA -
o I IEETERE; 416 PVC -
REBHE: VUV - RFEERVET, ; v N - THELHAG -
J097 (MR L0 (LD V) - TeMAREO, o me i T -

Ky 7€y t64mm. EES0mm) )
TROBAE. BRFI -V F-#BALLEXO,

) BRMREISROLS. FELEBTHILNHYVET,




